

Network Leaderboard Terms and Conditions

Terms & Conditions (the “**Terms**”) for the Lucky Rush Leaderboards (the “**Promotion**”) between Playtech Software Limited (“**Playtech**”), and the licensee (“**You**” or the “**Licensee**”). These Terms are supplemental to the Network Agreement and/or the Software License and Services Agreement (as applicable, “**License Agreement**”), between Playtech, or any company in Playtech’s Group (as defined below), and You. In the event of any conflict or inconsistency between these Terms and the License Agreement, these Terms shall prevail with respect to the subject matter hereof.

The **Promotion** by Playtech is a series of network leaderboards that will link multiple Playtech Licensees together to play for an estimated 10,000,000 € prizepool fund, in fun bonus.

1. General Terms & Conditions

1. This **Promotion** is operated by **Playtech**.
2. Promotion Duration: 29th Sep 2025 00:00 CET to 2nd Nov 2025 23:59 CET for a total of 35 days
3. The prize pool will be available to be won by the players of any opted in **Licensee**.
4. The **Promotion** consists of 5 network leaderboards, with dates listed in the table below.
5. The total prize fund for the **Promotion** is an estimated amount of 10,000,000 € in fun bonus.
6. Each leaderboard will pay out an estimated amount of 2,000,000 € in fun bonus.
7. The amounts are estimated and may vary due to the number of players participating in the Promotion.
8. Each leaderboard will pay out up to 15,000 players.
9. Participating players will be eligible for fixed fun bonus amounts as detailed in the prizes table below.
10. Winnings from this **Promotion** will have 40x wagering and 50% contribution requirements
11. **Playtech** will make available to **Licensees** a list of their winners and rank within 3 days of the end of each leaderboard Promotion.
12. **Licensees** will be responsible for the payment of prizes to their players.
13. **Playtech** agrees to cover 50% of the total value of the redeemed Fun bonuses, up to a maximum contribution of 300,000€, for the entire Network. Should the total redeemed bonus value exceed this threshold, any additional costs shall be shared among the participating operators on a pro-rata basis, according to their respective weight within the Network promotion.
14. The total value of the winnings of each Licensee will be applied to the **Licensees’** in the Nov and Dec 2025 invoices as a discount.

2. Licensee Opt in Process

1. If a **Licensee** wishes to take part in the **Promotion**, they need to communicate the same prior to 8th August 2025 23:59 CET to their designated **Playtech** account manager who will acknowledge their request.
2. A request to opt-in from the Licensee does not guarantee entry into the **Promotion**, and **Licensees** may be denied entry based on regulations, capacity or other reasons as seen fit by Playtech.
3. **Playtech** requires **You** to guarantee a promotional score of no less than 10 (ten) for the **Promotion Duration** with points awarded as below:
 - a. **Promotion** banner on the main casino site and promotions tab, accessible via desktop and mobile, from 29th Sep 2025 00:00 CET to 2nd Nov 2025 23:59 CET. (1 point)
 - b. Slot premium placement, to be defined with each operator, on the casino home screen for (one) positions throughout the **Promotion Duration** (3 points per game)
 - c. Slot 2nd scroll placement, to be defined with each operator, on the casino home screen for (one) positions throughout the **Promotion Duration** (1 points per game)
 - d. A dedicated promotion page for the **Promotion Duration** in the promotional area of the **Licensee** web site. (1 point)

- e. Dedicated CRM campaign via email, SMS or push notification to be sent to players for each stage of the leaderboard, 5 (five) in total to be sent while the **Promotion** is running. (1 point)
- f. Casino game placed on sportsbook if applicable (2 points)
- g. Discuss and finalise any alternative promotional arrangements with the **Playtech CRM team** and your **Playtech** account manager.
- h. Do not alter any supplied **Playtech** marketing materials without express written authorisation from Playtech which shall be provided on a case-to-case basis.
- i. Utilise the components of the dedicated network promotion promo pack across all platforms to maintain brand consistency.

3. Leaderboard Promotion

1. To take part in the **Promotion**, the player must open a participating game and “Join” a network leaderboard.
2. The player must join each network leaderboard individually. Opting into one leaderboard will not automatically gain entry to other leaderboards in the **Promotion**.
3. Playtech will not define a minimum bet for a player to take part in the **Promotion**.
4. If a player leaves a leaderboard and rejoins, they will lose their earned points total.
5. Results for each Leaderboard will be available to players approximately 15 minutes after the leaderboard finishes.
6. In the event of a tie on points, then whoever achieved their score first will be considered the higher-ranking player.
7. Points will be awarded based on the bet amount ratio of each individual spin. For example:
 - o Player stakes 1€ and gets 1 points
8. To receive a prize, players must have a total of points greater than or equal to one (1)
9. Only game rounds played on the following games will earn points:
 Age of the Gods: God of Storms™, Mega Fire Blaze: Wild Pistolero™, Oink Oink Oink™, Halloween Fortune™, Fire Blaze: Blue Wizard™, Mega Fire Blaze: Big Circus!™, Age of the Gods: King of Olympus™, Breaking Bad™: Cash Collect & Link™, Age of the Gods™: King of Olympus Megaways™, Buffalo Blitz™, Oink Oink Oink: Pharaohs™, Mega Fire Blaze: Legacy of the Tiger™, Fire Blaze: Blue Wizard™ Megaways, Queen of the Pyramids: Mega Cash Collect™, Fire Blaze: Red Wizard™, Buffalo Blitz II™, Sahara Riches: Cash Collect™, Blue Wizard: Cash Collect & Link™, Fire Blaze: Pharaoh's Daughter™, Good Heavens™, The Walking Dead™ Cash Collect™, Mega Fire Blaze™: Khonsu God of Moon™, Mega Fire Blaze: 3 Wizards™, Age of the Gods: Furious 4™, Jackpot Bells, Sky Queen™, Age of the Gods™: Mighty Midas, The Racaroon™, Epic Ape™, Age of the Gods™: Wheels of Olympus, Wolves! Cash Collect & Link™, Empire Treasures: Pride of Persia™, Fire Blaze: Green Wizard™, Halloween Fortune: Cash Collect™, Fire Blaze™: Jinns Moon™, Football! Cash Collect™, Gold Trio Football!™, Sahara Riches: Cash Collect Max™, Book of Kings™
10. At **Playtech's** discretion, **Licensees** may substitute the games above only if they have a branded version of the same game as a replacement.
11. Should **You** require us to exclude a group of players from the **Promotion**, **You** will communicate this to **Playtech** along with details of how to identify these players prior to 8th August 2025 23:59 CET

12. It is hereby clarified that points may only be issued via the Terms in the network leaderboard in this Promotion. Any points found to have been issued from any other source will be invalidated and may lead to the **Licensee's** disqualification from the Promotion at **Playtech's** sole discretion which would lead to no refund of prizes by **Playtech**, and the **Licensees** will be liable for any prizes paid to players.

4. Key Dates

Stage	Start	End
Licensee Opt in	8 Jul 2025 00:00 CET	28 Jul 2025 23:59 CET
Leaderboard 1	29 Sep 2025 00:00 CET	5 Oct 2025 23:59 CET
Leaderboard 2	6 Oct 2025 00:00 CET	12 Oct 2025 23:59 CET
Leaderboard 3	13 Oct 2025 00:00 CET	19 Oct 2025 23:59 CET
Leaderboard 4	20 Oct 2025 00:00 CET	26 Oct 2025 23:59 CET
Leaderboard 5	27 Oct 2025 00:00 CET	2 Nov 2025 23:59 CET

5. Prize Breakdown

1. Each leaderboard will have the following prize structure:

Position	Nr Prize	Prize value in Fun Bonus	Weekly prize value in Fun Bonus
1	1	25,000 €	25,000 €
2	1	20,000 €	20,000 €
3	1	15,000 €	15,000 €
4	1	10,000 €	10,000 €
5	1	7,500 €	7,500 €
6-10	5	5,000 €	25,000 €
11-35	25	2,500 €	62,500 €
36 - 100	65	1,000 €	65,000 €
101 - 400	300	750 €	225,000 €
401 - 1,000	600	500 €	300,000 €
1,001 - 3,300	2,300	250 €	575,000 €
3,301 - 7,000	3,700	100 €	370,000 €
7,001 - 11,000	4,000	50 €	200,000 €
11,001 - 15,000	4,000	25 €	100,000 €
TOTAL	15,000 Prizes per week	-	2,000,000 € per Week

6. Exclusions and Cancellation

- This Promotion is only available to users with a valid Italian Fiscal Code and if not located in prohibited jurisdictions. Transacting will be in Euro currency.
- In the event a player wins a prize and subsequently self excludes or similarly restricts their account, the **Licensee** must still pay the player unless there is a regulatory or other reason why this cannot be done.
- Playtech reserves the right to disqualify players if it reasonably suspects that collusion or other abusive strategies take place. Players must comply with the eligibility requirements of these Terms. Playtech reserves the right to withhold any prize won by anyone whom Playtech is aware of or has reasonable grounds to believe is ineligible.
- Playtech reserves the right to amend or cancel this Promotion or amend these Terms: (i) without notice if the change or cancellation is a result of any legal or regulatory change; or (ii) for any other valid reason by giving You notice in advance of the change, provided that such change or amendment shall not have a detrimental effect on players that have already participated in the leaderboard pursuant to this Promotion.

7. Data Protection

1. Data Controller: Licensee
2. Data Processor: Playtech
3. Purpose of Processing: Scores for each player will be held on a central server to facilitate a network leaderboard, aligned to the contracted services.
4. Anonymization: Only the following data will be sent to the data center (Dublin):

Type	Name	Real Example of data
------	------	----------------------

String	Player user ID	X0yEYw+5flEXhZTjVPxsEq2wEjgQ==
String	Masked player username	Dem****rt
String	Brand where created the local leaderboard	Playtechhorizon.uk
String	Site where created the local Leaderboard	Admin.playtechhorizon.com
integer	Local leaderboard ID	4123
String	Player's points balance update. Players with 0 points must not be send.	5789.23
integer	Player's event count limit Update	300
String	Last date & time of points transaction	14/06/2024 00:57
boolean	Indicates whether a player left the Promotion or still joined	1

5. Legal Basis: Contractual obligation to allow Playtech to ensure the provision of the services requested by Data controller.
6. Data In Scope: Data listed in table above is in scope.
7. Data Retention: Playtech will retain the data for the duration specified in our agreements with each licensee, in reference to their player data.
8. Security Measures: Individual access to network leaderboard management interface with specific permissions required. Obfuscating player data coming from different licensees. Opting-in for the implementation of the network leaderboard.
9. Cross-Border Transfer: As Playtech operates globally, data may be transferred across international borders and in such cases, will ensure contractual safeguards are in place.
10. Rights of Data Subjects: Individuals have the right to access, rectify, and erase their data. Players will be able to make requests to utilise their rights under applicable laws, via the Data Controller. Playtech will support the Licensees in their obligations to ensure the rights are enacted.

8 Additional Terms:

1. These Terms are governed by and shall be construed in accordance with the laws of England and You submit to the exclusive jurisdiction of the Courts of London, England, unless otherwise agreed between the parties under the License Agreement.
2. The non-mandatory design package in this Promotion is for illustrative purposes only and provided to all Licensees by way of a non-exhaustive example ("**Playtech Suggestions**"). For the avoidance of doubt, the timings of any network tournaments may not be changed. Playtech does not warrant that the Promotion is compliant with the laws of any jurisdiction, and it is Licensees' responsibility to ensure that the actual specifications of the Promotion shall be determined by it in compliance with all applicable laws.
3. You warrant the following: (i) to stop sending commercial communications to any person requesting You to stop as soon as is reasonably practicable, and in line with local regulatory requirements, (ii) to comply with the laws and regulations in regards to the distribution or issuing of commercial communications, (iii) to include the necessary responsible gaming messaging within all commercial communications related to gaming in accordance with the different regulations of the applicable territory in which You run the Promotion and to include a sign indicating the minimum age to participate in the game being promoted, in commercial communications with the exception of sponsorships, for their entire duration, (iv) You shall include the appropriate times, in line with the relevant time zone, in accordance with applicable regulation (v) to follow the necessary requirements, if applicable in regards to reporting of promotions/bonuses (vi) to make the relevant notifications to the regulator regarding recertification requirements of games, if applicable.
4. You are aware of the legal and regulatory restrictions associated with the operation, advertising and promotion of gaming and/or gambling (including, without limitation, this Promotion), and You undertake to verify, prior to launching this Promotion in any jurisdiction,

that this Promotion and the terms and conditions associated therewith are compliant with all laws and regulations of such jurisdiction. Playtech shall have no liability whatsoever to ensure compliance of this Promotion with the laws and regulations of any jurisdiction, or the enforceability of the terms and conditions contained herein in any such jurisdiction.

5. You are solely liable for the terms and conditions between You and the End Users.
6. While Playtech recommends that the Terms listed in this section below for illustrative purposes, the Promotion Mechanics, and all information in connection with this Promotion, are included in the terms and conditions between You and the players (“Players’ Terms”), it is hereby clarified that the sole responsibility and sole liability for the Players’ Terms is Yours and Playtech does not accept any liability or responsibility for the Players’ Terms. For the avoidance of doubt, You warrant that the Players’ Terms will comply with all rules and regulations in the specific jurisdiction being targeted. The Licensee will fully indemnify and hold Playtech harmless against any and all liabilities, damages and/or losses suffered or incurred by Playtech as a result of any claim brought against Playtech by any player.
7. Disclaimer: Playtech does not warrant that the operation of the Promotion will be uninterrupted or error-free; and Playtech accepts no responsibility for any damage suffered by any End User resulting from participating in the Promotion and/or winning any rewards.
8. Any service and service level agreements between You and Playtech under the License Agreement, shall not be applicable to the obligations of Playtech under these Terms and with respect to this Promotion.
9. **“Group”** means, in respect of Playtech, its ultimate parent company, together with every direct or indirect, subsidiaries and affiliated companies of that ultimate parent company, and their respective successors and assigns.

Suggested Terms & Conditions for Licensee Players’ Terms

- The promoter of Lucky Rush (the **“Promotion”**) is Playtech PLC with registered address at Ground Floor, St George's Court, Upper Church Street, Douglas Im1 1ee, Isle of Man (the **“Promoter”**).
- Promotion Duration: 29th Sep 2025 00:00 CET to 2nd Nov 2025 23:59 CET for a total of 35 days
- The Promotion consists of 5 network leaderboards, with dates listed in the table below.
- The total prize fund for the **Promotion** is an estimated amount of 10,000,000 € in fun bonus.
- Each leaderboard will pay out an estimated amount of 2,000,000 € in fun bonus.
- The amounts are estimated and may vary due to the number of players participating in the Promotion.
- Each leaderboard will pay out up to 15,000 players.
- Participating players will be eligible for fixed fun bonus amounts as detailed in the prizes table below.
- Winnings from this **Promotion** will have 40x wagering and 50% contribution requirements.
- Prizes will be paid to the players within 7 working days.
- To take part in the **Promotion**, the player must open a participating game and **“Join”** a network leaderboard.
- The player must join each network leaderboard individually. Opting into one leaderboard will not automatically gain entry to other leaderboards in the **Promotion**.
- There is no minimum bet for a player to take part in the **Promotion**.
- If a player leaves a leaderboard and rejoins, they will lose their earned points total.

- Results for each Leaderboard will be available to players approximately 15 minutes after the leaderboard finishes.
- In the event of a tie on points, whoever achieved their score first will be considered the higher-ranking player.
- Points will be awarded based on the bet amount ratio of each individual spin. For example:
 - Player stakes 1€ and gets 1 points
- To receive a prize, players must have a point total greater than or equal to one (1)
- Only game rounds played on the following games will earn points:

Age of the Gods: God of Storms™, Mega Fire Blaze: Wild Pistolero™, Oink Oink Oink™, Halloween Fortune™, Fire Blaze: Blue Wizard™, Mega Fire Blaze: Big Circus!™, Age of the Gods: King of Olympus™, Breaking Bad™: Cash Collect & Link™, Age of the Gods™: King of Olympus Megaways™, Buffalo Blitz™, Oink Oink Oink: Pharaohs™, Mega Fire Blaze: Legacy of the Tiger™, Fire Blaze: Blue Wizard™ Megaways, Queen of the Pyramids: Mega Cash Collect™, Fire Blaze: Red Wizard™, Buffalo Blitz II™, Sahara Riches: Cash Collect™, Blue Wizard: Cash Collect & Link™, Fire Blaze: Pharaoh's Daughter™, Good Heavens™, The Walking Dead™ Cash Collect™, Mega Fire Blaze™: Khonsu God of Moon™, Mega Fire Blaze: 3 Wizards™, Age of the Gods: Furious 4™, Jackpot Bells, Sky Queen™, Age of the Gods™: Mighty Midas, The Racaroon™, Epic Ape™, Age of the Gods™: Wheels of Olympus, Wolves! Cash Collect & Link™, Empire Treasures: Pride of Persia™, Fire Blaze: Green Wizard™, Halloween Fortune: Cash Collect™, Fire Blaze™: Jinns Moon™, Football! Cash Collect™, Gold Trio Football!™, Sahara Riches: Cash Collect Max™, Book of Kings™

Key Dates

Stage	Start	End
Licensee Opt in	8 Jul 2025 00:00 CET	28 Jul 2025 23:59 CET
Leaderboard 1	29 Sep 2025 00:00 CET	5 Oct 2025 23:59 CET
Leaderboard 2	6 Oct 2025 00:00 CET	12 Oct 2025 23:59 CET
Leaderboard 3	13 Oct 2025 00:00 CET	19 Oct 2025 23:59 CET
Leaderboard 4	20 Oct 2025 00:00 CET	26 Oct 2025 23:59 CET
Leaderboard 5	27 Oct 2025 00:00 CET	2 Nov 2025 23:59 CET

Prize Breakdown

Each leaderboard will have the following prize structure:

Position	Nr Prize	Prize value in Fun Bonus	Weekly prize value in Fun Bonus
1	1	25,000 €	25,000 €
2	1	20,000 €	20,000 €
3	1	15,000 €	15,000 €
4	1	10,000 €	10,000 €
5	1	7,500 €	7,500 €
6-10	5	5,000 €	25,000 €
11-35	25	2,500 €	62,500 €
36 - 100	65	1,000 €	65,000 €
101 - 400	300	750 €	225,000 €
401 - 1,000	600	500 €	300,000 €
1,001 - 3,300	2,300	250 €	575,000 €
3,301 - 7,000	3,700	100 €	370,000 €
7,001 - 11,000	4,000	50 €	200,000 €
11,001 - 15,000	4,000	25 €	100,000 €
TOTAL	15,000 Prizes per week	-	2,000,000 € per Week

- This Promotion is only available to users with a valid Italian Fiscal Code and if not located in prohibited jurisdictions. Transacting will be in Euro currency.
- To be able to play at Licensee it is necessary to be 18+ and not be prohibited from participating in gaming activities for any reason.
- Licensee and/or any third-party providing services to Licensee in connection with this Promotion (the **“Third Party”**), reserve the right to exclude players that participate in the Promotion with multiple accounts.
- Licensee and/or any Third Party, reserve the right to disqualify players if they reasonably suspect that collusion or other abusive strategies takes place. Players must comply with the eligibility requirements of these terms and conditions. Licensee and/or any Third Party, reserve the right to withhold any prize won by anyone whom Licensee is aware or have reasonable grounds to believe is ineligible.
- Employees, any family members of employees, of Licensee and/or Licensee’s Group (as defined below), and/or their agents, may not take part in this Promotion.
- Licensee and/or any Third Party, reserve the right to amend or cancel this Promotion or amend these terms: (i) without notice if the change or cancellation is a result of any legal or regulatory change; or (ii) for any other valid reason by giving you notice in advance of the change.
- These terms and conditions are governed by and shall be construed in accordance with the laws and regulations of Italy.
- These terms & conditions are additional to the standard terms & conditions for the participating website, and by participating in this Promotion all entrants will be deemed to have accepted and be bound by these terms and conditions.
- Rights of players: Individuals have the right to access, rectify, and erase their data. Players will be able to make requests to utilise their rights under applicable laws, via the Licensee.
- **“Licensee’s Group”** means, in respect of the Licensee, its ultimate parent company, together with every direct or indirect, subsidiaries and affiliated companies of that ultimate parent company, and their respective successors and assigns.